Math 151 8/30/7 Clicker Quiz

1. f(x)=cos(e*" ). Find f'(x).

2 2
A. x€"sin(e®) E. -2xex§in(e}{2)

B. 2xe*sin(e*) F. -e¥sin(e*)

C. exzsin(exz) G. f'(x) doesn’t exist.

D. -xzexém(exz) H. None of the above.
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2. How many hours per week would a
typical Math 151 student need to spend
working exercises to get an A in the course?

A. None; homework is not collected.
B. 1-2

C.34
D. 5-6
E.7 or more
F. No amount of homework is

enough for an A. .54 ety Sy

UNIVERSITY
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- d
Find [ —s=—

A. sinh™'(x) +
B. sinh™'(3x) -
C. sinh™'(9x) -

Question 1
C D.
NG E.
NG F.

Isinh™'(3x) + ¢
Tsinh™'(9x) + ¢

None of the above.
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Question 2

If sinh x = 7/24, find tanh x, if possible.

o0 w»

7/24 E. 24/7

7/25 F 25/24

24 /25 G. Impossible to find tanh x
25/7 with this information.

H. None of the above.
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Which of the following limits can be found by

Question 3

correctly using LHopital's rule?

| lim x*
X—00
A. None
B. |only
C. Il only
D. lll only

1 lim 2% 11z limx In x
X—00 X—1
E. |andll, but not Il
F. and Ill, but not |l
G. Il and lll, but not |
H. |, Il, and Il
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Question 1

Find lim (1/2) In x+3v/x— 3

X1 x—1
A. 0O E. 3
B. 1/2 F. 4
C. 1 G. +©
D. 2 H. None of the above.

1

SAR DIEGO STATE
UNIVERSITY
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Question 2

Find lim (1 + sin3x)c°t2x,

x—0+4
A. 0O E. 3/2
B. 1 F. 3
C. 2/3 G. +oc
D. 2 H. None of the above.
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Question 3

If coshx = 5/3, find coth x, If possible.

o0 w>

3/4
3/5
4/5
5/4

E. 4/3

F 5/3

G. Impossible to find tanh x
with this information.

H. None of the above.

MNIVERSITY
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Question 1

Find [ \/xIn xdXx.

A.

ITOTMOUO®

2/3 x3/2Inx —1/3x~ 12+ ¢
2/3 x3/2Inx —4/9 x3/2 4 ¢
2/3 x3/2Inx —4/15 x%/2 4+ ¢
1ex12Inx+x"124+¢

1o x=1/2Inx —3/ax 52+ ¢
/e x 12Inx —xV2 4+ ¢
Cannot be determined.
None of the above.

1
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Find [tan™!

A. xtan™’
xtan™’
xtan™’
x tan™’

tan

nmo oW

Question 2

(/x)dx

(1) +1/2In(x? + 1) + ¢
(7/x) = 1/zlﬂ( +1)+c
(1/x) +tan™"x + ¢

(1/x) —tan ' x + ¢

(1/x) +tan~'x + ¢
None of the above.

MNIVERSITY
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Question 3

Find lim (sin4x 4 cos 3x)%t2x,

x—0+
A. 0O E. e
B. 1 F e
C. 2 G. +o¢
D. e'? H. None of the above.

1

SAM DIEGO STATE
UNIVERSITY
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Question 1

Find [ sin® x cos* x dx.

A. 17x" —1/5x°>+cC

17 x" +1/5 x>+ cC

1/7 cos” x —1/5 cos®>x + ¢
1/7 cos’ x +1/5 cos® x + ¢
1/7 sin” x — 1/5 sin°>x + ¢
1/7 sin’ x +1/5 sin®> x + ¢
/s cos®x + ¢ )
None of the above. R

IOTMOUOD
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Question 2

Find [ v9 — x2 dx.

A.

TOMMOUO®

1/2(9 — x?)"/2+ ¢
—x(9—-x2)""24¢
2/3(9 — x2)2 + ¢

9/2sin'(¥/3) — 1/2sin(2sin™ ' (x/3)) + ¢
9/2sin'(¥/3) + 1/2sin(2sin~'(¥/3)) + ¢
9/2sin'(¥/3) — 9/asin(2sin”' (x/3)) + ¢
9/2sin” ' (¥/3) + 9/asin(2sin~'(¥/3)) + ¢

None of the above. Sany Dt S



Question 1
1
Simplify E e ) with partial fractions.
A B C

A' X241 | x2—1 | x—1
B A+B, C | D

' x2+1 ' x2—1 ' x—1
C A , B , C , D

x4t " o x+1 " o x—1 " x—1
D Ax+B_  C . D , E

' x2+41 ' x+1 ' x—1 ' x—1
= A , B , CcC , D

x24T x+1 D x=1 7 (x—1)?
F Ax+B  C , D | _E

x24T xH1 T x—=1 T (x—1)?
G. More than one of the above are correct.
H. None of the above.

Math 151 9/18/7 Clicker Quiz

1
SAaM DIEGO STATE
UNIVERSITY
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Question 2
Find A, 1t - XE(+21x Ty = 227 (xi 2 T
A. A< —3
B. A=-2
C. A= -1
D. A=0
E. A=1
FF A=2
G. A>3
H. None of the above. - ﬂ
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Question 3

Evaluate [ ¥X2dx.

A.

ITOTMOO

1/esec™1(x/3) — 1/12sin(2sec'(x/3))
/esec™1(¥/3) + 1/12sin(2sec™ ' (¥/3
/esec™(¥/3) — 1/6sin(2sec™(¥/3)
/esec™1(¥/3) + 1/6sin(2sec™'(¥/3)
1/2sec™1(¥/3) — 1/asin(2 sec™'(¥/3)
1/2sec™1(¥/3) + 1/asin(2sec™(¥/3)
1/2sec™1(¥/3) — 1/2sin(2 sec™'(¥/3)
1/2sec™1(¥/3) + 1/2sin(2 sec™'(¥/3)

rF 1T 1 1 1T 7]
0O O 0O O O O .

O

UNIVERSITY
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Question 1

In the integral table in the back of your book,

which formula would you use to integrate:

/\/11 — 10x?2

ax

Ox?

Enter the number of the formula you would use.
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Question 2

In the integral table in the back of your book,

which formula would you use to integrate:

/\/1 — eXe**dx

Enter the number of the formula you would use.

i
SAM DIEGO STATE
UNIVERSITY
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Question 3

In the integral table in the back of your book,

which formula would you use to integrate:

/ \/X2/3 — 7dx

Enter the number of the formula you would use.
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Question 4

In the integral table in the back of your book,

which formula would you use to integrate:

/ ax
eXve>x — 3

Enter the number of the formula you would use.
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Question 1

Estimate fo x)dx, using the trapezoidal
method with n =4, giventhat f(0) =1,f(1) =

2. f(2) = 3,1(3) = 4,f(4) = 2, f(5) =

A. 9 E. 12

B. 10 F. 15

C. 105 G. 16.5

D. 11 H. None of the above,

or impossible. >
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Question 2

Estimate fo x)dx, using Simpson’'s method
with n =2 gwenthat f(0)=1,f(1) =2,f(2) =

3,f(3) = 4, f(4) = 2, f(5) =

A. 9 E. 12

B. 10 F. 15

C. 105 G. 16.5

D. 11 H. None of the above,

or impossible. )
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Question 3

In solving a partial fractions problem, you find:
Ax?+1)+(Bx+C)(x —1)=x+3

Find B. Enter a numeric answer on your keypad.
If necessary, use the +— key to enter a negative
number, and the sym key to enter a decimal

point.

1

SamM DIEGO STATE
UNIVERSITY
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Question 1

Which of the following improper integrals are
convergent:

A BRI BT

none E. landll, but notll
| only F. landlll, but not |
Il only G. Il and lll, but not
1l only H. all are convergent 2

Sar DIEGO STATE
UNIVERSITY

OO0 w>
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Question 2

Which of the following improper integrals are
convergent:

|f1 S P || E A

none E. landll, but notll
| only F. landlll, but not |
Il only G. Il and lll, but not
Il only H. all are convergent 1

SAaM DIEGO STATE
UNIVERSITY

o0 w>
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Question 3

Which of the following improper integrals are
convergent:

e e

none E. landll, but notll
| only F. landlll, but not |
Il only G. Il and lll, but not
1l only H. all are convergent 2

SAaM DIEGO STATE
UNIVERSITY

00w
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Question 1

Consider the region enclosed by y > x? and
y <x/2+ 3. To find its area, we can either
iIntegrate dx or dy. How many integrals do we
get, of each type?

A. dx:1,dy:1 E. dx:1,dy:3
B. dx:2,dy:1 F dx:3,dy:1
C. ax:1,dy:2 G. dx:2,dy:2
D. dx:2,dy:2 H. None of the above m

SAN DIEGOD STATE
LSIVERSITY
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Question 2

Consider the region enclosed by y > x?,

y <x/2+ 3, and x < 3/2. To find its area, we can
either integrate dx or dy. How many integrals do
we get, of each type?

ax
ax
ax
ax

00w

1,dy:1 E.
- 2,dy:1 Fk
1,dy : 2 G.
- 2,dy 2 H.

ax :1,dy:3
ax :3,dy : 1
ax :2,dy : 2
None of the above m

SAN DIEGOD STATE
LINIVERSITY
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Question 3

Consider the region enclosed by y > x?,

y <x/2+3,and y < —2x + 3. To find its area,
we can either integrate dx or dy. How many
integrals do we get, of each type?

ax:1,dy:1 E. dx:1,dy:3
ax:2,dy:1 F dx:3,dy:1
ax:1,dy:2 G. dx:2,dy:2
ax : 2,dy : 2 H. None of the above

00w

SAN DIEGOD STATE
LIMIVERSITY
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Question 1

Consider the region enclosed by y = 2x? and
y = X. Rotate this region about the line y = 0.
Find the volume of the resulting object.

Enter a numeric answer on your keypad, using

the sym key to enter a decimal point. If
necessary, round to four decimal places.

1

SAM DIEGO STATE
UNIVERSITY
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Question 2

Consider the region enclosed by y = 2x? and
y = X. Rotate this region about the line x = 0.
Find the volume of the resulting object.

Enter a numeric answer on your keypad, using

the sym key to enter a decimal point. If
necessary, round to four decimal places.

1

SAM DIEGO STATE
UNIVERSITY
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Question 1

Consider the region enclosed by y = &*°, the
axes, and x = 1. Rotate this region about the

line x = 0. Find the volume of the resulting
object.

Enter a numeric answer on your keypad, using
the sym key to enter a decimal point. If
necessary, round to four decimal places.

1

SAM DIEGO STATE
UNIVERSITY
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Question 2

Two spheres of radius 1 have distance 1
between their centers. Find the volume of their

Intersection.
&
B
|/

Enter a numeric answer on your keypad, using
the sym key to enter a decimal point. If
necessary, round to four decimal places. a3

SAM DIEGO STATE
UNIVERSITY
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Question 1

Find the length of the curve y = x? between
(0,0) and (2, 4).

Enter a numeric answer on your keypad, using
the sym key to enter a decimal point. If
necessary, round to four decimal places.

1

SAM DIEGO STATE
UNIVERSITY
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Question 2

Find the length of the curve y = cosh x between
(0,1)and (1,(e+ e 1)/2).

Enter a numeric answer on your keypad, using
the sym key to enter a decimal point. If
necessary, round to four decimal places.

1

SAaM DIEGO STATE
UNIVERSITY



Math 151 Fall 2007 Clicker Quiz Answers

Date Question  Answer

8/30 1 E
2 E
9/4 1 D
2 B
3 A
9/6 1 D
2 H
3 D
9/11 1 B
2 A
3 F
9/13 1 C
2 G
9/18 1 F
2 B
3 A
9/20 1 33
2 54 or 60
3 40
4 45
9/25 1 Ct
2 B
3 -2
9/27 1 C
2 B
3 A
10/2 1 C
2 C
3 H
10/4 1 0.05236
2 0.06545
10/9 1 5.39814
2 1.309
10/11 1 4.64678"
2 1.1752

IThis quiz was not graded due to technical malfunction.



	Clicker Quizzes.pdf
	8-30-1.gif
	8-30-2.gif
	9-4-1.gif
	9-4-2.gif
	9-4-3.gif
	9-6-1.gif
	9-6-2.gif
	9-6-3.gif
	9-11-1.gif
	9-11-2.gif
	9-11-3.gif
	9-13-1.gif
	9-13-2.gif
	9-18-1.gif
	9-18-2.gif
	9-18-3.gif
	9-20-1.gif
	9-20-2.gif
	9-20-3.gif
	9-20-4.gif
	9-25-1.gif
	9-25-2.gif
	9-25-3.gif
	9-27-1.gif
	9-27-2.gif
	9-27-3.gif
	10-2-1.gif
	10-2-2.gif
	10-2-3.gif
	10-4-1.gif
	10-4-2.gif
	10-9-1.gif
	10-9-2.gif
	10-11-1.gif
	10-11-2.gif
	Quiz Answers.pdf

	Quiz Answers.pdf



